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Q21) /Direction: Read the Comprehension (Poetry) carefully and answer the Question:

When I consider how my light is spent

Ere half my days, in this dark world and wide,

And that one talent, which is death to hide,

Lodged with me useless, though my soul more bent.

Question: What is the meaning of word ‘ere’?

\y{z) Use the suitable ‘conjunction’ to complete the following sentence:-
He was not only punished fined.

fa) Is ‘sweet’ in the following sentence a part of subject or predicate?
The mangoes in the basket are sweet.

jzat) Put in thé correct pronoun in the Reported Speech of the following sentence:
Rahul said to me: “I work in an office.”
Rahul told me that worked in an office.

) Complete the following sentence with an appropriate article:
It is unique opportunity.

Q26) Direction: Read the Comprehension (Passage) carefully and answer the Question:

People take cars and other road vehicles for granted today. However, the idea of such
vehicles was unheard of about 500 years ago. Then in 1478, the artist and inventor Leonardo
Da Vinci designed, a self propelled vehicle. His drawing showed a boxy open-topped wooden
machine with three wheels. Coiled spring would make the vehicle more somewhat like a
wind up toy. Models of Leonardo's vehicle have been made in recent years and are on exhibit

in museums in Italy.

wé;ion: What did Leonardo Da Vinci design in 14787

0\2}{\ Write the masculine form of:-
Bee

\W Complete the following sentence:-
‘The soldier fought courage’

Q29) Identify the voice in the following sentence:-
Alexander Graham Bell invented the telephone

\_}39) Mention a common suitable prefix to the following words:-
Write, fresh, take
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&Zl) A.person travels from place A to place B with a uniform speed of 4 km/hr and returns back
with a uniform speed of 2 km/hr. What is its average speed during the travel?

TS I &9 A ¥ &9 B qF U THT A1 4 km/hr & STET & T T THT 977 2
H T9E W1 1T g1 T AT F IHAY sfvera e et & sl

Q42)” The refractive index of water and glass with respect to air are 4/3 and 3/5 respectively. The
refractive index of glass with respect to water will be:

T F ATIET ST TUT H1F H ATFATH FHL: 4/333/23.W%mmwmaﬂqw
ghm:

) An electric bulb consumes 2000J of electrical energy in 20s. What is its power?

T faga e 20s § 20007 F4=a ST HT SUNHT F4aT §) FET orfRw fobereft 20
) Which rays are absorbed by ozone layer?

AT 9 ey fhont iy sra T FLdT 82
29/ Among halogens which element has highest electron affinity?
FESTAY % Fad rfir gerET e e a6 &7

[T ez
Page 4 of 12 oo

Scanned by CamScanner



WAE2018--4087113

Q46) Write the name of type of given reaction,
/ CHs—CH2-Br + NaOH — CH3-CH,-OH + NaBr

v ST & S 7 AT Ry
3—CH2-Br + NaOH — CH3-CH>-OH + NaBr

) Name the vitamin whose deficiency in diet results in scurvy.
o Farerfae 7 T F41 § e stgw & 7Y & el Qv far
Q48) The naked seeded plants are called.
w7aeT 1T aTr AYRIT T FRT ST B
\yf Which blood vessel carries oxygenated blood from lun i
> OXYE gs to the left auricle of human heart?
F € A RHT WSt & siterfieie =i £ 71a e F St snfirg a o s &7
)

s b b4 . .
An olrlgzmsm s modification in structure, function or behaviour suitable to the environment
is called:- ,

T St T HTHAT, F1 AT AT AT F ST Aiad T FEerar &

Qs If a-b=4 and ab=21, find the value of a3-b3.
T2 a—b=4 TAT ab=21, Y a®~b? T 717 77 FT

) Amongst the following which is greater:-

(Vo) or (VY5
ArTaf@d # & i o der 7 &-
() ()"
\y/ Factorize: x2— 9x + 18
/T x2-9x+ 18
Q If A={x : x is an isosceles triangle} and B={x: X is an equilateral triangle} then find ANB

A A={x : x TF qHTEaTE G €} T47 B={x : x TF qHarg Bt 8} 47 ANB 1@ HfS)

W/F ind each of exterior angles of a regular polygon of 10 sides.
- T T ST AT AATAT TG F TeA ST HIO F A1 AT

\W Find the difference between place value and face value of 9 in the number 5693877
AT 569387 3% 9 F T W U ATEATaT AT & fehear 3fa 82

Q577 Three angles of a quadrilateral are equal and the fourth angle measures 75°. Find the
measure of each of the equal angles.

T STl 3 A1 0T AT & T =T Y7 750 T ) AT FY0 AT F17 AN

@n\e perimeter of a right angle triangle is 24 centimetre. If its hypotenuse is 10 centimetre,
find the area of triangle.

T e i oty 24 A, &) afy gw A 6 A 10 F.HY. & T FwHT B
EAHA AT DI

Mf each side of a thombus is 100 metre and one of the diagonals is 160 metre, find the area
of the rhombus.

uﬁ@mﬁwaﬁrmwmoﬁawwﬁwﬁwowﬁa@ﬁwm
el AT I

AU

j
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Q‘)’/Ifa+b= 7 and ab = 12. Then find the value of (a? + b?).
IfRa+b=7TuTab= 128, (32+b2)ﬂmﬁ@|

QEY)  pr50+1) 4 5(2x) = 534 , then find the positive value of x.
(T 50 + 5@X) = 5341 B Y x HT GTHT A T HITI

yz)/ January 5, 1991 was a Saturday. What day of the week was on March 3, 1992?
afe 5 5adt, 1991 #r orffvaTe o 4 3 W7, 1992 F FHIE FT F I 4T fart 912

\Qy’l/ The denominator of a rational number is greater than its numerator by 8. If the numerator is

increased by 17 and the denominator is increased by 1, the number becomes 3/2. Find the
rational number.

el i s i 2w e sfer & 8 arfer &) af dfer 1 17 T gL AT 1 q@T AT AL
w7 71 3o gy vy 1 wii et s iR

n an examination, 94% of the students passed and 33 students failed. How many students
appeared in the examination?

T T #, 94% e wefivt gu ot 33 & ke g wde & R g afeafed o

Q6 If the cost price of 10 books is equal to the selling price of 8 books, find the gain or loss
percent.

AfR 10 TEAHT F7 AT 74, 8 et F T T F a<rE gy, av ey a7 g wierd [
AR ,

Q6 If the wages of 6 men for 15 days be 22100, then find the wages of 9 men for 12 days.

7fd 6 gt Y 15 e i qorgd 22100 Y, a7 9 geat ¥ 12 R & worgdy ST HS@)

y ) The following data have been arranged in ascending order. If the median of the data is 63,
find the value of x.

29, 32, 48, 30, X, (x+2), 72, 78, 84, 90 :
AT siihst i AT 9 § Aqrerd 6T T g afs sAiwst i Arfeasr 63 &, av x
T JTT 7T FIoQl
29, 32, 48, 50, x, (x+2), 72, 78, 84, 90
\}“) If A:B=3:4 and B:C=6:7 then find A:B:C
Tf¥ A:B=3:4 79T B:C=6:7 &1 a7 A:B:C I 71a HIfvw)

Q69)” If a sum of money placed at simple interest doubles itself in 25 years, then find the rate of
interest per annum.

7f% FTETROT SATST 9T T@TFIS 6 25 T H TG FT AT &1 AT 8, A ST it AT &%
FTa Sl

Q70) ., The length of a chord of a circle of radius 10 cm is 16 cm. Find the distance of the chord
from the centre of the circle.

10 A7t Frsar arer TF g7 it TF Sffa1 A TS 16 Y. {1 39 F dw A Har fr g
o)

Q71) What is the name of mid latitude grass-land in South America?

Zferor sfea & wer sreriefiy wTe o AT T HT ATH §2

M A
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Q72)” Give the name of Warm Ocean current flowing along eastern coast of North America.

T ARFT F T q¢ & TF YR QN AT THERT FT AT AR

ya) Which port is situated at the Gulf of Kutch?
FIT | TRWITE F3 G o= R §2

Q74) In which country Drakensberg Mountain located?

T wdT e Yo & R
‘)75) When International ‘Tiger Day’ is observed?
SICE TR Ra@ w7 wwar 22

y On which continent the Equator, Tropic of Cancer and Tropic of Capricorn all the three
pass through?

ST T, s T T R T e e & g et 82

\yﬁ Who was the President of State Constitution Committee?
STt & af Al ¥ srexer w7 19 F47 972

Q78) The Sharda Act is related to?
AITRET SRR T A G £2
0)7{)‘ Where in India was the first French factory established?
I it Tgett 5 el gt euie iy 7 oft?

y‘i From wh?ch country the concept of concurrent list in the Indian Constitution was borrowed?
el & e # awadt gt 6t sremon B oy & fF w3

y Who was the propounder of Heuristic method? \
TR fafar % wfoures #q a2 \

\}92) Which report is called as Magna Carta of Indian Education?
T EToorT o st ST f2ve 6 forererg #gr Smar 82

\Mo introduced the five steps system in preparation lesson planning?
TS AISAT FHATT § G=q<HT Ot & TOdT A 4?
\yd) Which level of education is being provided at ‘Maktab’?

“Thqe # e T &t forar & STt 87

Q85) Who was the propounder of Project Method of Teaching?
ST faveror fafer & worar i 947

\‘gﬂ’ Problem of ‘wastage’ and ‘stagnation’ is primarily related to which level of education?
‘FTEIT’ T A Y qHET Feqaar fHe faen-wx & qwafea §2
\}877 Who profounded primary laws of learning?
e % srerfares fRrgiaT & woraT S 572
Q88) Educational Technology III is also known as-
ferer apeIhT et T qERT AT &-

\QS/9)/‘ Which aspect of student’s behaviour is related to his interests and attitudes?
ATAF ¥ STAEIT FT FI AT T Jeht TAGT TUT AT & TG grav 87
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Q397 Which test is used to know the learning problems of students after classroom teaching

S ——————- iU L LR SRR

ST §7?
\}9{) Fill up the Blank: “According to Gagne’s Leamning Hierarchy highest stage of learning
is ? ”»
ek =Ty i, i ¥ srferer s & st Y wafed oo g2
392) Fill up the blank: “Originality, Flexibility and Flow are the compopents of 2?2 7 T
fer vt i s, Tt o oAg 2 F S

?

y{)\ Fill up the blank: “Brain Storming technique emphasises the importance of
thinking in teaching gifted children” a‘T
Foem T i “sRrerTelt arerst 37 faveror & R gxe awds 2 e
Hged T a AT g|”

\Qﬁ) Fill up the blank: “Kohlberg’s theory explains | ? _ development of a child.” 1
= = 9w st FT Rgra wFaeE F 2 T T =TedT FLT g7

—

Q95)  An infant of below 15 months age is at what stage of language development?
T 9] S 3 v S 15 Wrg § e e Y g s § g 82

Q9 Who advocated the ‘Trial and Error theory of Learning’?
“HEw %y v qfe Rgwa 1 wiare Fad fFa?

Sy) Programmed Learning is based on whose theory of learning?
It srferm fraen arfenm g ue smemiRa 82

3%3 ‘Rehabilitation Council of India (RCI)’ is established for the education of which type of
children?

AT HaTE TRy’ # Tt R W ¥ gt Y fover F forg iy T 872
Q99) ~What is the right order of feeble mindedness based on 1Q?
: qiefRa(IQ) & STeTT U AraafEdT & T F1 TGl FH FT 87

3160) The process of Assimilation and Accommodation is related to what?
STCTETAHTIT T FHTH IS ht ST e wvarfeerd 37

Q101) Who is the author of the book ‘Everest Ki Beti’?

e FY A TEAF FT AGH/ATEH FI 82

LQ?L In which year did the Government of Uttar Pradesh launch Bhagya Laxmi Yojna?
I TR GHTT  F a W AeHT ASTHT R AT R

%’3) Who wrote ‘Akbarnama’?

Q104) In which city is ‘Bharat Kala Bhavan’ situated?
‘ST et s oy e R 22

Q105) To which state ‘Jallikattu’ is related? ‘
Sreeftre e Trod & w87 i

AT A
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06) Which city of Uttar Pradesh is known as ‘Shiraz of India’?
T T F T TR A w1 F1 frerer Fy strar £7

}67) In which district of Uttar Pradesh is the holy place ‘Naimisharanya’ located?
i T I =4 F g oray & arafRaa 22
Q1 In which place in Odisha is Sun Temple located?

g wieex Aifear § gy e w1 Rua 2

y,og) Name the Pala King who founded the Vikramshila University?
S Q-1 T A0 Fa13¢ e st fyafesmem wnfie e

y_/tﬁ‘m) On which date is the “World Environment Day’ observed?
e wafaor R e @ v s smar &2

Q111) What is known as ‘Paper Gold’?
\},\4’2) Which planet is called ‘Red Planet’?
FT H T T TG FaT ST 82
Q113) In which state Loktak Lake is located?
et forer T 7 o &2
14) Who is the first full fledged woman Defence Minister of India?

AT $t et quietiors wiger wamiE /19 82

5) Who has received ‘Indira Gandhi Prize’ for Peace, Disarmament and Development for the
year 2017?

a¥ 2017 ¥ orif, Frceferor st fme ¥ forg 2R Tt [wer e we fom T 87

Q116) Who has become the first woman pilot in the Indian Navy?

AT FRAT F el AFRAT TTAAE FIA 872

y) The 48" International Film Festival of India was held in:-
T ¥ 48 F g fhew gicHa F S e ¢

Qxi8) Which is India’s cleanest city as per ‘Swachh Sarvekshan 2017’7
o= TRETOr 2017° ¥ AT AT T T =5 gL FI AT 87

L}Yﬁ) 7 Who has been selected as the ‘Best Actor’ in 64" National Film Awards?
64 F TP Fred TCERT # A Sfar 68 A7 e
}120) Who is the 218t Chief Election Commissioner of India?
T % 21 F & FATE I HiA 87

‘/Qé) Who has been appointed as the 9™ Secretary General of United Nations?
| oy Gogs T & T 9 At wgTEteE A AT Tr?

\M Who has been selected for ‘Vyas Samman, 2017°?
=T qEAT, 2017 % forg e T mar €2

y’) On which date is the World Toilet Day celebrated?
Fyva efraTera e e Rfar iy w=ma st 87
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Q124) Who Was appointed as the new chairman of the Central Board of Film Certification (CBFC)
n August 2017?

2017 ¥ few yror Y€ %7 7T sreger B Fgges v mam?

5) Which Ir}dian state is the largest producer of sugar at present?
. AT &t el Fearen st arem sl T A AT §2
$426) In 1893 in which city Swami Vivekananda delivered inspiring speech as a delegate of India
in the Parliament of world Religions?

T 1893 ¥ far erax & wameft R ¥ T ¥ TR ¥ w7 § fivg onf wwg
ST Ty fRa?

Q}}[) With which game is ‘Durand Cup’ associated? ‘
T F T o & el §7

Q128) Yhat is the new name of Kandla Port which was renamed recently? i
PISHT TG T I & H wiafe 74 a9 77 27

Q129) “The World Human Rights Day’ is celebrated on which date?
Forva s R fim Ry S s s 2

Q130) For which book Rabindra Nath Tagore received the Noble Prize?
st v e 3 g wlieg Ay i F e e e

Q131)" The term left to the symbol :: have the same relationship as the two terms to the right of

symbol :: Out of four terms one is missing. Find out the missing term?
BC:DI::DE:?

HHd 1 F FIT S QY ISF H a8 FHAAT & A bt o2 F AT A F A IS F G AR A= A ;‘
¥ UF 9% 7 g1 qH IS qq130 !

BC:DI::DE:?
Q1 If Kamal says, “Ravi’s mother is the only daughter of my mother.” How is Kamal related to
Ravi?

wﬁwm%ﬁ:“rﬁﬁﬁﬁ'&ﬁaﬁ;@m?ﬁ%”a‘rmwr&ﬁmmgv
' ’ e 3 N y
Q133) Find the next term in series: 4M, 9K, 161, 25G, ---?

L At 4M, 9K, 161, 25G, ---? T 3T 9T AT H

Q134) In a certain code PROMOTION is written as 567873271. In the same code NOTTION
will be written as:-

7% feft 7 streT § PROMOTION 1 567873271 forat Sty &t Swft e wrar &

OTTION I fer@T STTA:-
\‘y)/l?dohan starts to walk in west direction and walks 3 km, then turns right and walks further 4

km. He further turns left and walks 2 km, again turns left and walks 4 km. How far is
Mohan from its origin and in what direction?

Hree afem £t A7 3 .17 Feehd ot T i qear & i) 4 fhd), serr § R st

A g 2 .. T € agueed O R I EE A A A w1
I wo F e § fraeft @ 7 R Rer # 872

136) The physical structure of a Computer is called:-

Fre §Y s e Fgardt &:-

WAE2018--4087113
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Q}z{) The Brain of Computer is:-
FFYEL FT ey v -

8) A main page of website is called:-

awmﬁ?ﬁsrmg-

ﬁ In a digital computer, data is stored in which form?
T fRSftes Frogex & wrer farg v # wefir AT 27
Q140) The file Attached with an e-mail which is sent to a receiver is called as:-
AT A T BT N €A T o Ay A Aol e & 9wy e
Q:I‘.?)‘ Using \fotirig rights during Election is related with which type of value?
Wﬁmmmmaﬁwﬁm{a%wﬁw@

Qifyf teacher helps the student in selecting subjects, then this is his which role?
R e S A v A waw w3 qy a7 swh w6 22

:r?/ Tg eniure participation of more students in class, which method of teaching you would
adopt? '

gpmwﬁmmmwﬁrmma@ﬁmﬁnwﬁmaﬁﬁ%ww |

unishment is which type of reinforcement?

T0E TR TR T e §7

\y‘ﬁ Which body determines the professional norms for teachers?
ferere & ST sreeor & A A et wwar 32

Q146) Which article of the Cohs_ﬁtution discusses the fundamental duties of citizens?
Hfagm & 9 srq=om § ATRET F g wdeat i 7=t 27
% 1:1 guidance for one’s personal problem is called:- ,
ey srfera gweaT 3g 101 e Fgemar - '
gys) In which year National Literacy Mission was launched?
TETT ATALAT THT T [FAT F §57?

Q149) Who was the chairman of Emotional Integration Committee?

AT Tl TTHT 6 LT HiT T2

' Q144

Q150) Which record is maintained to verify the ability, interest, aptitude and response of the
students?

HIT AT AT @Al ht AT, S, ewaren gd sttt 6§ st w3 @ o 82
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